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GENERAL INSTRUCTION TO THE EXAMINEES:
1. qRIeeff M S UeH UF W ATHG Sfarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. T T PR AR B |
All the questions are compulsory.
3. YD U Pl IR &l Ty IR GRADBT 7 8l ford |
Write the answer to each question in the given answer book only.
4. T3 gl # r<aRe Woe 8, S Al & IR U aref 81 ford |
For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U% P IR forae A Yd U &1 HHid a9y ford |

Write down the serial number of the question before attempting it.

6. U U & Bl @ SISl wuRY H HAl JpR & Ffe /R / TR 84 0R f2=il Ay
P UIT DI B Hal 74 |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. U9 HHib 14 I 20 F MARP fAdpeT 2|

There are internal choices in Question No. 14 to 20 .
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SECTION- A
1. 9gfdPpedTHD T
(= xvin): /1 g2l & ITR BT Fel [Adhed T IR SR gRaeT H ey |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

() 1834 H b IS &1 gl WR SiIIaRIST Yo WY WU foham ram ? 1
(37) smRgzam (@) wr=m

@) fiea (3) =4

On the initiative of which state in 1834 was the Zollverein custom union established ?

(A) Austria (B) Prussia

(C) Britain (D) Russia

(1) STH A 58 I H FIell JaT 49 ®Y A U8 Il § 2 1
() eRarom (@) HERTS

(9) NreTeq (]) sIvEvs

In which of the following states black soil.is Predominantly found ?

(A) Hariyana (B) maharashtra
(C) Rajasthan (D)Jharkhand

(1) IR g0 Sitg HReToT SAfefeae od o] fhar T ? 1
(@1) 1970 (&) 1971

(&) 1972 () 1973

When was the Indian wildlife protection Act. Implemented?

(A) 1970 () 1971

(C) 1972 (D) 1973

(v) FIT 5 9 DI SRINT AT TR Pl dodd A1l & WU H WYTh Bl oe 1
(31) BTt (@) Hrie

(&) et SEISSIS



Which of the following industries uses limestone as raw material ?
(A) Paper (B) Cement

(C) Steel (D) Motor vehicle

(v) 1 | 9 DI |1 uRaeT dEE WRd A OWR A 5 e

(37) TTgHeTET @) Yo uRasd

() arg uRae (@) ws® uRded

Which one of the following is the most important modes of transportation in India ?

(A) Pipeline (B) Railways

(C) Airways (D) Roadways

(vi) T H ¥ Qo | fava H 999 Ugel 4RO @ ddAle [dawiad gs ol ?
SORSIEIR @) sivs
@) == (&) 9rd

In which of the following countries in the world was the earliest kind of print technology developed?

(A) Japan (B) England

(C) China (D) India

VIl STRFdTE gRT 991 T 919 & S99 &l Sl fbdd gRT fhar Tar ?

(&) ~gepra (8) TPt gop
(®) #eg e () fat o
Who produced the steam engine designed by James Watt ?
(A) Newcomen (B) Michael wolf

(C) Matthew Boulton (D) Will Thorne

(vin) T faea]g (1914) H 3 ¢l & ©WH § ST I IMAS T8l o ?
(a1) et (@) wia

SORSERE (=) v=

Which nation was not included in the Allied Camp in the First World War (1914) ?
(A) Britain (B) France

(C) Germany (D) Russia

(IX) ‘MR Siieg=’ AT8® B fhas fordl ?

(37) g <t (@) Dot IR <

N



(%) zATaTS () armeTg {9
Who wrote autobiography titled 'Aamar Jeeban'
(A) Rashsundari (B) Kailash Bashini Devi

(C) Ramabai (D) Tarabai shinde

(X) STedT a5 Hd g7 7

(31) 1944 (d) 1946

(|) 1948 () 1950

When did Sri Lanka become an independent nation ?
(A)1944 (B) 1946

(C) 1948 (D) 1950

(xi) Frifra & | dg g &1 vy 8 § -
(37) TS e (@) fageh A
() s () fRre

Which of the following is not a subject of the union List -
(A) National Security (B) foreign affairs

(C) Banking (D) education

X RT § 7= & 9 Afgeel @ fou IRew @ v g —

(31) <rp || (@) T T

(|) faem g« (]) TEARIIRTST &1 eIy
In India reservation for women in which of the folioing -

(A) Lok Sabha (B) Rajya Sabha

(C) Legislative Assembly (D) Institution of panchayati Raj

(XIll) TRATT SAThad H Gl Javl & —

(31) T T (@) =1 Tl

(%) TEeei @) 57 & T

Party system in Indian democracy is -
(A) One party (B) Two party

(C) Multi party (D) None of these



xiv) Fr=ifed 8 9 5 a9 9oTTell § SRS RGN BT 64 8idl o—

(31) pa= CIRSGE]

(%) arrRIEr (@) 3 wf

In which of the following system of government, responsible government is formed-
(A) Democracy (B) Monarchy

(C) Dictatorship (D) All of these

(xv) faeg 9% & R faf=1 <20 5 [Ae™ & MR WR ol &1 & foly s
ATICUS BT VAT fhaT STem 38—

(@1) I 3y (@) ufcr =afn ama

(@) B 3ma (=) frroft ama

According to the word Bank, which criteria is used to compare different countries on the

Basis of development

(A) National income (B) per capita income

(C) Household income (D) Personal Income

xvi) fFr=ifrd & & B3 Aie SR 6RdT 8 —

(31) MR e d@ (@) d& i gsar
(@) IR Red I () sfsgT d&
Which of the following issues currency notes -

(A) State Bank of India (B) Bank of India

(C) Reserve Bank of India (D) Indian Bank

xvin) fore & 4 SORRT BT SISl 8T & —

(31) =T U @7 IADHR () == BT IARTBR
() GRefm &1 ARDBR (@) ®Hd H B BT ARBR
Which of the following is not a consumer right -

(A) Right to be informed (B) Right to choose

(C) Right to safety (D) Right to reduction in price

(XVIII) JRTSETT STYR BT SER g1 dTel] eIl & —
(@1) fava =R HTeH @) favwa &
() FFH g Y (T) SRIERT a1 DI

The organization that liberalizes international trade is -
(A) World trade Organization (B) World Bank

(C) United Nation Organization (D) International Monetary Fund



2. Reh I &1 gfd dIvIg — (19 vi)
Fill In the blanks : -

(i) T T T (1815) DT STEUETAT oo sicall

The Vienna Conference (1815) was chaired by .....................

(1) S AR Bl I GTEIT~ Heel =

...................... is the main food crop of India-

(iii) G T2 B AL TGS B FTAR BT .o HEA © |

Trade in goods between two countries is called .................. .

(iv) STerd= BT We—de 372 BT T AT BT T B |
Democracy does not simply mean ruling by the opinion of .................... :

(v) T T BT UGHTTd FARAT H IATE .oovreree &3k Bl A 2 |
Production of a commodity from natural resourcesis a ...........cceeeeeneen. Sector activity .
7 J— AR 3fEREdH BT Udh AT ¢ |

...................... is an example of trade barrier .
3. SAfTTGRIHS T : (1 F xu)

(F Il & SR U oe I1 TS Ufeh H SIfoT)

Very Short Answer type Questions :
(Answer the following question in one word or one line)

(i) 3THIHT H 1890 & D H Bl TR Toi & Boil ?

Which disease spread rapidly in Africa in the 1890 ?

(ii) "HSOT $R DI &1 §g HSWIH o o, I g1 AT |* IuYth HUT [Hadr & ?
" Printing is the ultimate in something from god, the greatest gift." who said the above ?

(iii) OTF T JINTCH fEdl 51 1780 H b AT UNDBT &1 GG PO fhaT ?
Which Weekly Magazine did James Augstus Hickey start editing in 1780 ?

(iv) o= a1 I UTa fhq Iog | Rerd 7 ?

Sunderbans Natinal park is located in which State ?

(v) IRT BT YA il 8 SN Hal T 737 ?
Where was the first cotton textile industry set up in india ?
(vi) TR Nold I fobd= el # dfer a1 & ?
Indian Railway is divided into how many Zones ?

(vil) TR HE BT 2T Hal 27

Where is the headquarters of European union ?

(viii) "eF BT HHT W ST A 3T T8l fHar S Ao I8 fha wer o ?

Who said that "religion can never be separated from politics" ?




(ix) ATpaS DI Y faeryar faRkay |

Werite one feature of democracy .

(x) AT ST RAT 87

What is demand deposit ?

(xi) TETET HHo e wad 27

What is called a multination company?

xii) SUHRHT GReET A g urRa faar Tar?

Consumer protection Act. Was passed?
Yl — ¢
SECTION-B

TYIRIHD Y — (ST AT 9T 50 ¥Meq)
Short answer type questions - (Answer limit about 50 words)

(4) fa=r | (1815) & <1 aRvm qaTsy | 1 +1
Mention any two results of Treaty of Vienna (181 5) .

(5)XTM ART & R H A FIT S 87

What do you know about the silk Road ?

(6) PTT BN b ToT FAEH WH B UR DT BHRT Siid= el TR AT U9 BRI 2

Imagine, if the oil supply gets exhausted one day, how would this affect our life style ?

(7) IR BT T WTel Bl BT A1 gd1¢ 3R STal I8 U&T &1 oIl © S &3] &l

faavor 4| Vat1s =
Name of one staple crop of India and the regions where it is produced.
(8) AT DI ATGNT 9l STl & 2. & BRI forfRay | 1+ 1=

Write two reasons, why power sharing is necessary ?
(9) f=2l T WIaeIT=i BT Tk BN Sl WIRA &I &H FRUeT < 991 2 | 1+ 1=
Mention any two constitutional provisions that make India a secular state .

(10) NTSERT UTHIOT ISR RCET SIS, 2005 BT 0TI IS |

Explain the strategy of National rural employment guarantee Act. 2005.

(11) Gl SRISHTRT 3R J28 sRISRI H 3[R HIToTT | 1+ 1=

Difference between open unemployment and disguised unemployment.

(12) ITITDHROT F Y FIT FHSTT &7

What do you understand by globalization ?

(13) TATERYT # RRTGC & HO VW ITER0N &I AT 99, S AT 370+ AU
< |

Make a list of some examples of environmental degression that you have Seen around you.
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SECTION-C

TSR U3 — (STR AT ST 100 3768

Long answer type questions - (Answer limit about 100 words)

14. 3% 3OSTT HHT 1 9RAR T 9 IENT DI DY qdia (hdr ? FHegy | 3

How did the East India Company ruin the Indian Cotton textile industry? Explain.
37T / OR

3TN I~ & oF<Id gU SIShRI R Udh o faIRay |

Write an article on the inventions under the Industrial Revolution.

15. ISR # a97 STl GV & a¥Id! Bl Held H ARAT SINTY | (@18 a1 1%4+1% = 3

Briefly explain the methods of rain water harvesting in Rajasthan. (Any two)

314l / OR
fr=ifed o1 e B |
IS ERSICERGEE! (i) 9 fgu Riars gormed
Explain the following-
(i) Jal Jeevan mission (ii) Bamboo Drip Irrigation
16. YR H FEI AT & FHIL DI | 3
Review the federal system in India .
3721dT /' OR

Hodre 7 87 dudie &l Heyul [aRIvdrsil @l gdrsy |

What is federalism? Explain the important features of federalism .

17. 971 fafHa &7 Ue A © g8 avg fafg @ aIul @l gr Bl g |
AR BT | 3

Money is a medium of exchange. It removes the defects of barter- Explain.

3741 / OR
FOT B ANUATRS AT IR D Al b fAd=qT SIS |

Discuss formal or Informal sources of Credit.
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SECTION-D
TS U — (ST HIFT oRTHIT 250 91R)

Essay Type Questions - (Answer limit about 250 words)

18. I TS A<l &1 AR F guiF S | 4

Describe the civil disobedience movement in detail.

37T / OR

ART § e ST b BRI IR Th g [oIRau |

Write a essay on the reasons for the growth Of Nationalism in India.

19. AIDHAH ¥ ASHITD Tell DI AR el & aR=T ST | 4

Explain the various roles of political parties in a democracy.
37T / OR

IS T & BT Bl ARAT BT |

Explain the functions of political parties.

20.999 & SR I T 9efam | Qg — 1+1+1+1 = 4

Write the answer in the given map -

fr=forRad I el BT YR & N A § Sifhd B |

Mark the following oil fields on the outline Map of India

(31) H‘%F:g g'l—sg; (Mumbai High) () JipelZaN (Ankaleshwar)
(39 f$74TS (Digbol) (T) I (Bassien)
3141 / OR

f=forRad Alg v fAaTdd O & IRT & @7 A § ifdbd HIfvu |

Mark the following iron ore exporting ports on the outline map of india.
(3T) ATARTIRN (Marmagao) ~ (d) HTe[® (Mangaluru)
() IRTEIT (Paradwip) (<) faeImETUeH (vishakhapatnam)
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